QID: 201 -
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

AT vw d o7 or Revedt & @ vy RF
(?) & TYT W A N T & gRAT

18| 22 | 14
324 484|196
9 (11| ?

Options:

1)8

2) 10

3)7

4)11

Correct Answer: 7
Candidate Answer: 7

QID: 202 -
How many rectangles are there in the given figure?

& 7% pia A fRda 3maa &2

N

Options:
1)4

2)3
3)5

4)6
Correct Answer: 5
Candidate Answer: 4




QID: 203 -

A word is represented by only one set of numbers as given in any one of
the altemalives. The sets of numbers given in the alternalives are
represented by two classes of alphabets as shown in lthe given two
matrices, The columns and rows of Matrix-1 are numbered frem 0 to 4 and
thal of Matrixdl are numbered from 5 lo 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘T’ can
be represented by 24, 97, etc_, and ‘M* can be represented by 11, 66, etc.
Similarly, you have to identify the set for the word “AGAIN".

TF UG hadd TH TEAT-HHE 1 &2 a1/ 2. o fs Raeeat 3 8
o v A R e §) Aaedl # BT T FER-FAR HeW $ g1 aaf
gR1 gefiw e §, S 5 RT 7w g g # R Wgp F FIFA 3
afF Y e 0 T 4 ¢ W e A 5 J 91 3T HegH ¥ U iR
T ged ZEH dfn IR T A TaEH HEA R QAR ST IEAT R
3EIR0 & fow <T@y 24, 07, R 0 AT S0 \EA § FAT W W17,
66, MR TR M o @A ¥ W W@ /U om A RBu g
“AGAIN" & e T B oEaEET B

Matrix-| Matrix-Il
AR 3Tl
01234 567890
O[X[K|D[F[X 5/Z|C[W|G] I
T G|M|N|R[V]| [6[K[M[O[QlS
2ElO|Y [T FIU[W[Y|B[A
3[CI[F|T[L|R S|E[H|[G|L|N
4|A[S|U[N[P 9|AIR[TIV[X

Options:
1) 95, 10, 79, 59, 41

2) 40, 87, 40, 32, 12
3) 95, 56, 79, 32, 43

4) 13, 58, 69, 59, 89
Correct Answer: 40, 87, 40, 32, 12
Candidate Answer: 40, 87, 40, 32, 12

QID: 204 -
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& T A FFAA A W IW SR AFA B AT
Tra & uyr ngla Bes &

/N

IR T R et R i e s I 0/



Options:

1)
@)
2)
7 N
N /
3)

AN
Y

Correct Answer:

\

N\

Candidate Answer:

\

N

QID : 205 -
Which answer figure will complete the pattemn in the
question figure?

P W 33 WPF wy AEI F v & Q@
HLfr?

3




Options:

1)

2)

Correct Answer:

Candidate Answer:

QID : 206 -

If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

I UF ZOUT BT AB T@ W T@ AW, at & T
IR AFRAG A T BT W B wy HER A
we ufafere gefte

B




Options:
1)

2)

Correct Answer:

Candidate Answer:

QID : 207 -

A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when

opehed?

@ & uy Apaal # Em dgER eve &
AZHY DS FAT TIA & a1 95 RE IR AFTI

st fears o

8

4

]

O R RO AR R B e o Lol W 12



Options:
1)

N
—

Op 0

w
-

&
~

-1.]

O0p o0

Correct Answer:

9¢ 09

Candidate Answer:

9o 0ov

QID : 208 - If '+' means '+', 'x' means ', -’ means '+' and '+' means X/, then
16-5x2+4+12=7
& '+ @1 3ref =X DT aref il 3fef 1 '+ 1 opef g,

16-5x2+4=12=7?
Options:

1) 15

2)9

3)12

4) 27

Correct Answer: 15
Candidate Answer: 15

QID:209 - If 15C 5D 45 = 135 and 13 C4 D 12 = 39, then
11C33D66 =72
7fd15C5D45=13504T13C4D 12 =398, a

11C33D66=7?
Options:

1) 22

2)32

3) 44

4)11

Correct Answer: 22
Candidate Answer: 22




QID : 210 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Shame
2. Sheet
3. Shoot
4. Shut
5. Ship

FaRET sl @ Xeae = § 3 a1t 8 & AR g

1. Shame
2. Sheet
3. Shoot
4, Shut
5. Ship

Options:
1) 12534

2) 12354
3) 12345

4) 12543
Correct Answer: 12534
Candidate Answer: 12534

QID : 211 - In the following question, select the missing number from the given series.
4,5,9,18,34,?
oo uy & fou e fowedl & § g siw 1 Sifw|

4,5,9,18,34,?
Options:

1) 67

2) 63

3)55

4)59

Correct Answer: 59
Candidate Answer: 59

QID : 212 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
LM, OP, RS, UV, ?
T W far T B, o 9 Ue ue qw 3| R faswedt # § 95 wd ieed gy, S orgpa & qu |

LM, OP, RS, UV, ?
Options:

1) wy

2) WX

3) XY

4) Xz
Correct Answer: XY
Candidate Answer: XY

QID : 213 - In the following question, select the odd word from the given alternatives.

e oy # T mu faweat & 9 o s &t gfRu
Options:

1) Mother

Hidl

2) Father

o

3) Sister

Cikl
4) Friend

Correct Answer: Friend




Candidate Answer: Friend

QID : 214 - In the following question, select the odd number pair from the given alternatives.

Fafatea uy & far T e § € faww Sen gw &t g
Options:

1)8-136

2) 17 -289

3)6-102

4) 19-361
Correct Answer: 19 — 361
Candidate Answer: 19 — 361

QID : 215 - In the following question, select the odd letters from the given alternatives.

s uy # fiu T faweat & 3 e sierl & gfw
Options:
1) MN

2) NM

3)FU

4)ZA

Correct Answer: NM

Candidate Answer: FU

QID : 216 - Identify the diagram that best represents the relationship among the given classes.
Teacher, Lawyer, Man

I8 3N AT N 2 U e T F s & Tdy o1 9et R SR B

A, BT, GO
Options:
1)

3)

4

SN®

Correct Answer:

&




Candidate Answer:

QID : 217 - In the following question, select the related word from the given alternatives.
Synonym : Antonym ::Long : ?

Frafafea uy # fou 7 e # ¥ ddft wss ot gful
yatqard : fawafg : : awar: 2

Options:

1) Short

Bler

2) Fat

Her

3) Peak

e

4) Night

RUE

Correct Answer: Short

Candidate Answer: Short

QID : 218 - In the following question, select the related number from the given alternatives.
14:2744::19:?

Faffad ue # g ¢ faded! # & Haifta e o1 g

14:2744::19:7?

Options:

1) 6859
2) 7299
3) 6853

4) 6339
Correct Answer: 6859
Candidate Answer: 6859

QID : 219 - In the following question, select the related letters from the given alternatives.
OPEN : NEOP : : BEAT : ?

Frafofd uy & fou 7 fowdt # ¥ Iefia sieri & ghm

OPEN : NEOP : : BEAT : ?

Options:

1) ATTA

2) ATBE

3) ATBF

4) TABE
Correct Answer: TABE
Candidate Answer: TABE

QID : 220 - In the following question, select the word which cannot be formed using the letters of the given word.
LEMONPIE
afiRed fowed! & 9§ 9 Wea AT ol fAU 1T Teg & H&RT BT TRINT B ot ST off avdT|

LEMONPIE

O R RO AR R B e o Lol W 12



Options:
1) MOLE

2) POLE
3) MEAN

4) MOIN
Correct Answer: MEAN
Candidate Answer: MEAN

QID: 221 - Tis 5 yearsolder to U. U is 8 years younger to V. V is 3 years older to W. W is 9 years younger to X. Who are of same age?

T,udsafasiRIvu, vaAsa¥ Bler gl v, w A 3 af 921 ®1 W, X q 9 I BeT 1 11 Y0 3G & &2
Options:

1HWandT

WauT

2)WandV

wayrv

3) Vand X

Vv ayr x

4)Xand T

XauT

Correct Answer: Wand T
wauT

Candidate Answer: W and V
wayrv

QID : 222 - The present ages of P and Q are 15 years and 21 years respectively. What will be the respective ratio of the ages of P and Q after 6 years?

P YT Q BT IHIT AT SHWR: 15 a8 a1 21 T 1 6 TS UHTH P GUT Q BT 3TY BT hHRN: ST T gAT?

Options:
1)5:7

2)5:6
3)3:4

4)7:9
Correct Answer: 7 : 9
Candidate Answer: 7 : 9

QID : 223 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
1. All red are Sun.
II. No red is hat.

Conclusions:
1. No hat is Sun.
I1. All Sun are red.

9= RuTE uy § 7 HUF 3R 7% 918 37 HU W &nurﬁﬁgmﬁﬁﬂfﬁnw% graiter ST AT T e | e §) Tl 31wt P ug ok fibe Pefia
o fos R o @ e, few 70 w2t & SR R iR 81

FY:
L gt e g B
1L Hﬁﬁmaﬁﬁ'ﬁ%l

Iﬁéﬁfﬁﬁﬁ%‘?%l
1L @t g e €

Options:
1) Only conclusion (I) follows.
fren (1) ¥E1 &
2) Only conclusion (II) follows.
Fad Ay (11) T8 B
3) Both conclusion follow.
HT €t freed T R
4) Neither conclusion (I) nor conclusion (II) follows.
T fed (1) 7 € Fresd (1) w1 31
Correct Answer: Neither conclusiqn /T\ nar concliucion (1M follows

R oo p— 4




Candidate Answer: Only conclusion (I) follows.

Faa Fwpy (1) T& 21

QID : 224 - In a certain code language, 'round’ is written as 'tall', 'tall' is written as 'red’, 'red' is written as 'wood', 'wood' is written as 'bread' and 'bread' is
written as 'soil'. What do we eat in breakfast?

% ARy Fs YT §, e B T, W& B A, 9 S aeer, aeel B 'He aUT 'He © 'ger iR 9T 81 89 ARe § 7 @ 87
Options:
1) soil

Hal
2) wood
adpal

3) bread
s

4) tall
L

Correct Answer: soil

74

Candidate Answer: soil

T

QID : 225 - In a certain code language, "TOLL" is written as "57" and "TAX" is written as "43". How is "ROAD" written in that code language?

& ARy H18 U &, "TOLL™ &1 "57" qUT "TAX" &I "43" fIRaT ST §1 39 DS HIST & "ROAD" &I fpd TR forar smam?
Options:
1) 33

2)38
3) 36

4) 40
Correct Answer: 36
Candidate Answer: 36

QID : 226 - What is the simplified value of [(V23 — V19) + (V23 + V19)]?

[(V23 - V19) + (V23 + V19)] & ITRiPHd AF a1 32
Options:

1) (21 - v437)/2

2) (21 + V437)/2

3) (21 + V42)

4) (21 + 3V42)

Correct Answer: (21 — v/437)/2
Candidate Answer: (21 — v/437)/2

QID:227-If A =73 x 6% and B = 7% x 63, then what is the value of A x B?

qEA=73 x 6 TUTB =75 x 63 B, A A x B BT AF 1 8?
Options:

1) 714 x 611

2) 69 x 76

3) 715 x 12

4) 78 x 67

Correct Answer: 78 x 67

Candidate Answer: 78 x 67

QID : 228 - If (4/5) of a square of a number is 180, then what is that number?

I w TN & 9 P71 (4/5), 180 B, N I8 JE I 2
Options:

1) 15

2) 17

3)25

4)13

Correct Answer: 15

Candidate Answer: 15

IR T R et R i e s I 0/



QID : 229 -

What is the value of \/7 +121+/441+ 100 ?

7 + 121+ /241 + 100 1 J1a /&7

Options:
1)9

2)7
3) 11

4) V149
Correct Answer: 7
Candidate Answer: 7

QID: 230-
Which of the following statement(s) isfare true?

I 4730
I, 32 >53

fAraeRE & ¥ Fi a8 739 §9 ge?
I 4739
. 283

Options:

1) Only I

Fad 1

2) Only I

FIq I

3) Both I and II

1 AT 11 &

4) Neither I nor IL
Faradu

Correct Answer: Only II
Faa I

Candidate Answer: Only II
Fad II

QID : 231 - What is the value of 142 + 162 + 182 ......30%?

142 + 162 + 182 ......302 &I A 1 &2
Options:
1) 4448

2) 4596
3) 3296

4) 5134
Correct Answer: 4596
Candidate Answer: 3296

QID : 232 - Two pipes P and Q can fill the tank alone in 200 and 300 hours respectively. If they are opened together, then in how many hours will the tank be
filled?

<1 UISY P YT Q U <! Pl SHH: 200 YT 300 B H R Thd 81 afe ST Ul & U Ty Wit o o, <Y &bt fbet v § R wafie
Options:
1) 240

2) 120
3) 150

4) 250
Correct Answer: 120




Candidate Answer: 120

QID : 233 - L alone can do a work in 20 days. M alone can do the same work in 30 days. L, M and N together can do the same work in 6 days. In how many days
can N alone do the work?

L T 1 ] 3rbar 20 A & o1 e 81 M 3 B Y 31 30 o gy R 81 L, M AT N fiaaR S8 R @ 6 R F qu v €1 N bl 99 B! @) fhant
& o g Hem?

Options:

1) 12

2) 18

3)8

4)24

Correct Answer: 12

Candidate Answer: 12

QID : 234 - The ratio of the length and breadth of a rectangle is 11 : 3. If the perimeter of the rectangle is 420 cm, then what is the breadth (in cm) of the
rectangle?

T T B T 94T NS BT AU 11 : 3 §1 I 1ad &1 IRAT 420 Y., B, @ 3m9q &t e (@.. H) qwm g
Options:
1) 40

2) 45
3)42

4) 48
Correct Answer: 45
Candidate Answer: 45

QID : 235 - A trader gives a discount of 12% on the marked price. To earn profit of 32%, by how much percent should he mark the price of his goods higher than
its cost price?

TP IR 3ifdhd G W 12% $1 FT a1 81 32% BT A UG A o oI I 0 axggedt o1 g, 9 Hed 9 e wfasia o sifdsa e anfge?

Options:

1) 40

2) 50

3)30

4) 60
Correct Answer: 50
Candidate Answer: 50

QID : 236 - A profit of 15% is made after giving a discount of 10% on an article. If the marked price of the article is Rs 2300, then what is its cost price (in Rs)?

TP T T 10% B B 31 P T 15% P AH BT 81 TS axg 1 3ifhd T 2300 < B, N ITH1 57 Y (T H) T 32
Options:

1) 1800

2) 2000

3) 1950

4) 2100

Correct Answer: 1800
Candidate Answer: 1800

QID: 237 - If 9.8 of a = 9.1 of b, then what is a : b?
I aB9.8=bH9.18, Ta:bFTI?

Options:

1)14:15

2)13:14

3)11:13

4)7:15
Correct Answer: 13 : 14
Candidate Answer: 13 : 14

IR T R et R i e s I 0/



QID : 238 - Three numbers are in the ratio 3 : 4 : 5. If the sum of their squares is 3200, then what are the numbers?

ddEd 3: 4 : 5% U A {1 Al 9% 0 %1 AN 3200 €, A FSAN @1 §?
Options:
1) 40, 16, 20

2) 24, 32, 40
3) 20, 18, 25

4) 25, 32, 30
Correct Answer: 24, 32, 40
Candidate Answer: 24, 32, 40

QID : 239 - The average weight of a class is 40 kg. If a student with weight 60 kg. joins the class, then new average weight becomes 42 kg. How many total
students are there in the class?

T FHeT BT 3T HR 40 f5.701. B1 3 T 60 6.1, YR aren o7 wam & wnfia 8) o, o 77 3has YR 42 .77, €t wan 81 $&m # o fhan o 22
Options:

1)9

2) 10

3) 11

4)12

Correct Answer: 9

Candidate Answer: [ NOT ANSWERED ]

QID : 240 - A sold a pen to B at a loss of 60%. B sold the pen to C at a profit of 30%. If C pays Rs 260 for pen, then for how much (in Rs) A bought the pen?

A B®I 60% B! 814 TR U& Had 99| B C FI 30% F T W Fad s=t A C FaW & [T 260 T Iomam 8, @ A 3 fvaa (3 H) & oaw @i 4k
D500

2) 450

3) 380

4) 400
Correct Answer: 500
Candidate Answer: 500

QID : 241 - On selling an article for Rs 462, a shopkeeper losses 40%. At what price (in Rs) he should sell the article in order to earn a profit of 20%?

TH O Bl 462 T & 391 | TH GHHER Bl 40% Bt g1 81l g1 20% TH FHIA F 77 IV 39 3 3t fFaq (7 ) & 991 afgee
Options:
1) 924

2) 854
3) 946

4) 840
Correct Answer: 924
Candidate Answer: 924

QID : 242 - 800 is first increased by 10% and then it is again increased by 20%. What is the final value?

800 FI UZS 10% T TGN T AT I R F 20% T TQTa1 M| Hfow W T 32
Options:

1) 1024

2) 1120

3) 1056

4) 1096

Correct Answer: 1056

Candidate Answer: 1056

QID : 243 - Two numbers are 20% and 25% less than a third number respectively. First number is what percent of the second number?

T Y, U R TR § HUR: 20% TUT 25% HH ¢ Tge U, gust W &1 {1 ufaera 82

Options:
1) 111.75
2) 106.66

3) 103.33 IR T R et R i e s I 0/




Correct Answer: 106.66
Candidate Answer: 106.66

QID : 244 - If the speed of a boat in still water is 40 km/hr and the speed of the current is 5 km/hr, then how much time (in hours) will be taken by the boat to
travel a distance 180 km downstream?

I fRRR 1@ & 1@ Bt 71 40 .. /5eT B qur Ry Bt 1 5 . er B, o uR1 & eE 180 b . Bt gft 7w FRA & 19 &Y e gy (d@e #) wme

Options:
1)3

2)4
3)6

4)8
Correct Answer: 4
Candidate Answer: 4

QID : 245 - A 1000 metre long train crosses a 500 metre long bridge. If the speed of train is 30 km/hr, then what is the time taken (in seconds) to cross the bridge?

TP 1000 Hiex Tl Y@, U 500 HieR T Ua UR Rt a1 e Yame) &t ify 30 b6 B, @ Ud UR A fhae aw (et ) avar 82
Options:

1) 200

2) 150

3) 180

4) 120

Correct Answer: 180
Candidate Answer: 180

QID : 246 - In how much time (in years) will Rs 18000 amount to Rs 22500 at simple interest at the rate of 5% per annum?

fpam T (auf #) 7 18000 T P AR 5% Pt Affes TR F TR W TR 22500 T Y SN2
Options:
1) 10

2)5
3)6

4) 15
Correct Answer: 5
Candidate Answer: 5




QID: 247 -
The table given below shows the number of goals

scored by 2 players P and Q in 5 matches |, II, lll, IV
and V.
A & o a@fer & 5 A LIV Fr VoA 2

Refzat P gur Q T A I ar Hr wEAr &
Ty T g

Match /3 Player / f@<rE&Y
P Q

| 55 50

I 45 45

1l 45 46

v 48 45

Vv 47 44

What is the ratio of goals scored by player P in match IV to the goals scored by player Q in match III?

et p gr1 B 1v § 52 R e 1 et Q gRT A 11 B 3 TR e @ an SiquTd 82
Options:
1)45:46

2)24:23
3)23:24

4)96: 95
CorrectAnswer: 24 : 23
Candidate Answer: 24 : 23

QID: 248 -
The table given below shows the number of goals
scored by 2 players P and Q in 5 matches |, I, Ill, IV
and V.

A & g aifaer # 5 At L L LIV qr VoA 2

ot P gr Q e A 7 et Fr wEar &
AT T g

Match /3 Player/ @<=
P Q

| 55 50

Il 45 45

[ 45 46

v 48 45

Vv 47 44

In how many matches did player P scored less goals than player Q?

fora Helf & Rt p A et Q & %A it fod) &2

IR e e e e M )/



Options:
1)1

2)2
3)4

4)5
Correct Answer: 1
Candidate Answer: 1

QID: 249 -
The table given below shows the number of goals
scored by 2 players P and Q in 5 matches |, Il, lll, IV
and V.

Ao af@m &5 &= L0,V Vv F 2
ReiRat P Jor Q T BR3 o et Hr wEar F
AT 7T B

Match 7 3 Player / f@as
P Q

l 55 50

I 45 45

[l 45 46

A% 48 45

V 47 44

What is the average goals scored by player P in all the 5 matches?

Tft 5 A< F Reart P gRT o TR et T ot R &2
Options:

1) 45

2)48

3) 49

4) 53

Correct Answer: 48

Candidate Answer: 48




QID : 250 -
The table given below shows the number of goals
scored by 2 players P and Q in 5 matches [, II, lll, IV
and V.

A & ag aifdsr 7 5 AL LIV TV A2
@aifzat P g Q T T s et Hr wEar =
Zamar I g

Match | 3 Player / f&<mst
P Q

| 55 50

[l 45 45

11 45 46

v 48 45

\Y) 47 44

Goals scored by player Q in match V is what percent of goals scored by player P in match IV?

et Q gr1 89 v # i3 TR e faere P gR1 89 v 3 0 R g &1 fan wfdwra &2
Options:
1) 85.78

2) 91.66
3) 88

4) 99
Correct Answer: 91.66
Candidate Answer: 91.66

QID : 251 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Privatisation is regarding who controlling the educational institute (1)/ and the role of government in the management and (2)/ funding of the institute, while
corporatization is about making profits. (3)/ No error (4)

Options:

1)1

2)2

3)3

4)4

Correct Answer: 1
Candidate Answer: 1

QID : 252 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error',

One way of doing this is to show the target audience (1)/ that a bank account is actual a lifestyle enabler (2)/ a convenient and safe means to send money to
family or make a variety of purchases. (3)/ No error (4)

Options:
11

2)2
3)3

4) 4
Correct Answer: 2
Candidate Answer: [ NOT ANSWERED ]

IR e e e e M )/



QID : 253 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

I read another book tomorrow.

Options:
1) am

2)is
3) shall

4) was
Correct Answer: shall
Candidate Answer: shall

QID : 254 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

IwishI the answer.

Options:
1) knowing

2) has been known
3) knows

4) knew
Correct Answer: knew
Candidate Answer: knew

QID : 255 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Weird

Options:
1) Strange

2) Usual
3) Regular

4) Normal
Correct Answer: Strange
Candidate Answer: Strange

QID : 256 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Confederate

Options:
1) Combined

2) Adversary
3) Enemy

4) Opponent
Correct Answer: Combined
Candidate Answer: Combined

QID : 257 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Calculation

Options:
1) Counting

2) Ignorance

3) Stupidity

4) Coniecture B O e, A s e e e e o I 2



Correct Answer: Counting
Candidate Answer: Counting

QID : 258 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Endorse

Options:
1) Affirm

2) Disapprove
3) Suppose

4) Authorize
Correct Answer: Disapprove
Candidate Answer: [ NOT ANSWERED ]

QID : 259 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Ensue

Options:
1) Precede

2) Appear
3) Befall

4) Arise
Correct Answer: Precede
Candidate Answer: [ NOT ANSWERED ]

QID : 260 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Sedate

Options:
1) Exciting

2) Calm
3) Cool

4) Grave
Correct Answer: Exciting
Candidate Answer: Exciting

QID : 261 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Like pulling teeth

Options:
1) Extremely difficult

2) Behaving with caution
3) Literally and strictly

4) Giving news to others
Correct Answer: Extremely difficult
Candidate Answer: Behaving with caution

QID : 262 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Fly into a rage

O R RO AR R B e o Lol W 12



Options:
1) To become extremely angry

2) To share things with other people
3) To dress up properly

4) To go straight ahead
Correct Answer: To become extremely angry
Candidate Answer: To share things with other people

QID : 263 - Improve the bracketed part of the sentence.

There are many people who don't have a house, we can't cater to (those).

Options:
1) these

2) them
3) that

4) No improvement
Correct Answer: them
Candidate Answer: No improvement

QID : 264 - Improve the bracketed part of the sentence.

Government should immediately send a team of health professionals to provide medical care to the (effective) people.

Options:

1) effected

2) affecting

3) affected

4) No improvement

Correct Answer: affected
Candidate Answer: affected

QID : 265 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Station at the end of a route.

Options:
1) Beam

2) Terminus
3) Arrival

4) Departure
Correct Answer: Terminus
Candidate Answer: Terminus

QID : 266 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Having no beginning or end to its existence.

Options:
1) Ephemeral

2) Eternal
3) Transient

4) Mortal
Correct Answer: Eternal
Candidate Answer: Eternal

QID : 267 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
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Options:
1) Briefcase

2) Breifcase
3) Breefcase

4) Brifcase
Correct Answer: Briefcase
Candidate Answer: Briefcase

QID : 268 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

Options:
1) Consistient

2) Consistent
3) Conscistent

4) Consistant
Correct Answer: Consistent
Candidate Answer: Conscistent

QID : 269 - Rearrange the parts of the sentence in correct order.

Everyone needs to be well aware

P: are at significant, road accident risks
Q:of the road traffic rules especially

R: children and young people who

Options:
1) QRP

2) RPQ
3) PQR

4) QPR
Correct Answer: QRP
Candidate Answer: QRP

QID : 270 - Rearrange the parts of the sentence in correct order.

When each and every Indian people will
P: have their own bank account

Q: importance of money saving

R: they can better understand the

Options:
1) QRP

2) RPQ
3) PRQ

4) QPR
Correct Answer: PRQ
Candidate Answer: PRQ

QID : 271 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The rate at which Sun’s energy is and the rate at which it is dispersed in the space decides the equilibrium temperature and climate of our planet. The winds,
ocean and other mechanisms carry this energy around the globe thereby the climatic conditions of regions. Long-term as well as
term changes in solar intensity have an impact on the global climate.

energy is and the rate
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Options:
1) received

2) deceived
3) refracted

4) retrieved
Correct Answer: received
Candidate Answer: received

QID : 272 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The rate at which Sun’s energy is and the rate at which it is dispersed in the space decides the equilibrium temperature and climate of our planet. The winds,
ocean and other mechanisms carry this energy around the globe thereby the climatic conditions of regions. Long-term as well as
term changes in solar intensity have an impact on the global climate.

ocean and other mechanisms

Options:
1) tensions

2) currents
3) torrents

4) disasters
Correct Answer: currents
Candidate Answer: currents

QID : 273 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The rate at which Sun’s energy is and the rate at which it is dispersed in the space decides the equilibrium temperature and climate of our planet. The winds,
ocean and other mechanisms carry this energy around the globe thereby the climatic conditions of regions. Long-term as well as
term changes in solar intensity have an impact on the global climate.

globe thereby the climatic

Options:

1) resulting

2) initiating

3) impacting
4) acting

Correct Answer: impacting
Candidate Answer: resulting

QID : 274 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The rate at which Sun’s energy is and the rate at which it is dispersed in the space decides the equilibrium temperature and climate of our planet. The winds,
ocean and other mechanisms carry this energy around the globe thereby the climatic conditions of regions. Long-term as well as
term changes in solar intensity have an impact on the global climate.

conditions of regions.

Options:

1) similar

2) same

3) alike

4) different

Correct Answer: different

Candidate Answer: different
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QID : 275 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The rate at which Sun’s energy is and the rate at which it is dispersed in the space decides the equilibrium temperature and climate of our planet. The winds,
ocean and other mechanisms carry this energy around the globe thereby the climatic conditions of regions. Long-term as well as
term changes in solar intensity have an impact on the global climate.

as well as term

Options:
1) long

2) short
3) actual

4) medium
Correct Answer: short
Candidate Answer: short

QID : 276 - "Maharatna" refers to a group of

"HERE" § F<fild 9 &

Options:

1) Emerging small and medium enterprises

FIRA BU Y 3R AL ITH

2) Central public sector enterprises
& I

3) Leading private sector enterprises

P U A

4) Leading multi-national companies

VHE SgIg

Correct Answer: Central public sector enterprises
Ep

Candidate Answer: Central public sector enterprises

FHg g E &4 & ST

QID : 277 - Which of the following country uses the "Birr" as its currency?
Foffea & @ FH-a1 3 "fa Bt oY go & U H e wvan 82
Options:

1) Ethiopia

2) Togo

arm

3) Eritrea

4) Egtonia

Correct Answer: Ethiopia

Candidate Answer: [ NOT ANSWERED ]

QID : 278 - Who founded the Dravida Munnetra Kazhagam (DMK) party?
a3 T HTH (SeHF) Ul o1 oA i @t o

Options:
1) M. Karunanidhi

.
2) M.G. Ramachandran

.S, T

3) C.N. Annadurai
.

4) C. Rajagopalachari
I, ISRy

Correct Answer: C.N. Annadurai

iR

Candidate Answer: M.G. Ramachandran
Peivilieccol

QID : 279 - Article 368 of Indian Constitution deals with which of the followings?

YRETT TAUTT F STSIG 368 TT TR A A /




Options:
1) Emergency Provisions
SUTTHTRT ST

2)y-Amending Procedure
T ufgrn

3) Right to Primary education

Ty et 1 SR

4) Right to Information

LI FT HUFR

Correct Answer: Amending Procedure
e v

Candidate Answer: Amending Procedure

gy wfshan
QID : 280 - The only Viceroy to be assassinated in India was

g THIE TR e g WRa & gs At I
Options:

1) Lord Wellesley

TS Jarerct

22 Lord canning

S BT

3) Lord Mayo

s T

4) Lord Ellenborough

ISR GEER

Cgrrect Answer: Lord Mayo
a

andidate Answer: Lord Mayo
o

QID : 281 - Which movement was called off following the violence at "Chauri-Chaura" incident?

AR B P we & FRO i FH-a1 e R B e mar ar
Options:
1) Khilafat movement

2) Quit India Movement
HRA BIS
3) Non Co-operation Movement

4) Home Rule Movement
TR

Correct Answer: Non Co-operation Movement

Candidate Answer: Non Co-operation Movement

QID : 282 - In terms of area which country is considered to be the second largest in the world?

& Bl = ¥ 3y BT R TI §ST AW HH 1 82
Options:

1) Russia

=4

2) Canada

PAST

3) India

HRd

4) China

Gic

Correct Answer: Canada
FHAIST

Candidate Answer: Canada
PAIET

QID : 283 - Name the planet that has a moon called "Ganymede"?

"It TS HAT O U BT T Sag?
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Options:
1) Jupiter

2) Venus

pEg

3) Mars
I

4) Saturn
EUS|

Correct Answer: Jupiter

Candidate Answer: [ NOT ANSWERED ]

QID : 284 - Which one of the following is commonly known as "Pond Silk"?

Frofafea 7 3 58 Imrg: ard I Sl o dT 22
Options:

1) Spirogyra

TTERITERT

2) Rhizopus

3) Yeast

dRe (@HR)
4) Ulothrix

Correct Answer: Spirogyra

Candidate Answer: [ NOT ANSWERED ]

QID : 285 - The acid rain caused by environmental pollution happens due to which of the following?

TRl YENUT & BRUT o aul fufafed  F fag oo @ g 82
Options:

1) Carbon n\}onoxide and Carbon d[g)xide

HTE TSRS R FE SRS

2) Ozone and Carbon dioxide

IS SR HIEH SRATTRS
3) Nitrous oxide and Sulphur dioxide

TR HTFITES 3R TehR SRATFRS

4) Carbon dioxide and Nitrogen

P SRATTRS AR AL

Correct Answer: Nitrous oxide and Sulphur dioxide
A3eY 3RS 3R TR SRS

Candidate Answer: Ozone and Carbon dioxide
IS 3R HIEH SRHTRS

QID : 286 - On the basis of the weight where is the strongest muscle found?

U o B SR TR J Ao Hio=h Hei R et ot 82
Options:

1) Jaw

SIgET

2) Calf

foseit

3) Shoulder

byl

4) Arm

Correct Answer: Jaw
KA

Candidate Answer: Jaw
CES)

QID : 287 - What is called the process of converging gas into liquid?
19 o R H ga- 31 UihaT B F7 Bl Sl 87

O R RO AR R B e o Lol W 12



Options:
1) Radiation
fafa=u

2) Condensation
Rioec)

3) Rescission
RICE

4) Evaporation
iR

Correct Answer: Condensation
Riec)

Candidate Answer: Condensation
Riboc)

QID : 288 - Light travels fastest in which of the following medium?

T 3 T Wrerm H TR O i ¥ A5 T 22
Options:

1) Water

S

2) Air

3) Vacuum

4) Steel
EL3IG
Correct Answer: Vacuum

Candidate Answer: Vacuum

QID : 289 - Which one of the following is an operating system?
FafRed & § o1 1 U@ SfRfen few &2

Options:
1)1 Dot net

2) Java
IC
3) Maya
HE
4) Unix

Correct Answer: Unix

Candidate Answer: Unix

QID : 290 - Between small and large human intestine which one is longer?

B 3R S o A1 A § P W o e 72
Options:
1) Small intestine
B @
2) Large intestine
St 3
3) Both are equal in length
T RIR §
4) Depends on male or female
B9 I Afge & R W Fuffa gar g
Correct Answer: Small intestine
BT e
Candidate Answer: Small intestine
B 3@

QID : 291 - Which of the following is a bleaching agent for textiles industries?

iR § 3 S 91 o Sar & R 1 e e 82




Options:
1) Lithium hypochlorite
o grRUeaREe

2) Calcium hypochlorite

EAREL IR CRNET

3) Hydrogeg peroxide
WIS

4) Hydrogen sulphide
RGRAES

Correct Answer: Hydrogen peroxide

Candidate Answer: [ NOT ANSWERED ]

QID : 292 - Bauxite is an ore of which of the followings?

RES T QA fFgeT o0 22
Options:

1) Lead

3ice)

2) Aluminium
3) Zinc

It

4‘)1 Copper
GIEL

Correct Answer: Aluminium

andidate Answer: Copper
GIEl

QID : 293 - "Ganga Action Plan" initiated by the Union Government aims at

T PR gRI IR &} T S Qe (MA@ saed . gl
Options:
1) Streamlining the flow of Ganga river
T A & YaTe @t fFAR=RAT §9IY 3T
2) Reduction of pollution in Ganga river
T A & Uy B HH HAT
3) Efficient use of Ganga water for irrigation
fory i o/ 1 vt IuART SR
4) Using Ganga river for generating hydel energy
T < & 9 DI S fagad IaeA vg WA Sl
Correct Answer: Reduction of pollution in Ganga river
T T H T B HH HRAT
Candidate Answer: Streamlining the flow of Ganga river

T 9} F yarg B FRRAT T TG4

QID : 294 - International Maritime organization (IMO) is concerned with

RIS T WA (rEwwe) . 4w gl
Options:

1) Air pollution

arg ugyu ¥

2) Shipping Regulation

ST fafrHa

3) Adulteration in food

Ty ¥ fiamae §

4) Deforestation

Correct Answer: Shipping Regulation
SHE

Candidate Answer: Shipping Regulation
et fafrea

QID : 295 - "Astrosat"” is India first

"TRNE" YRd HT TUH |
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Options:
1) Reconnaissance Satellite

AL I &
2) Rfamote Sensing Satellite

R Y IR §

3) Space Observatory

Sfefer Aer=a 3

4) Communication Satellite

AR IR §

Correct Answer: Space Observatory
Sfafer Aep=ma 8

Candidate Answer: [ NOT ANSWERED ]

QID : 296 - Which country will host the Cricket World Cup-2023?

fpdpe 3% P$U-2023 I AVEH BT T1 W HIM?

Options:
1) India
HRd

2) Pakistan
i

3) Sri Lanka
PIRGa
4) \A!est Indies

Correct Answer: India
HRA

Candidate Answer: India
YR

QID : 297 - Where did the Maharaja Sawai Jai Singh of Jaipur NOT build the Observatory?

SR & HERIS YaT8 o Rig 3 Bl W Je=mer o oy TgY S are
Options:

1) Ujjain

I

2) Mathura

HYI
3) Allahabad

4) Varanasi

Correct Answer: Allahabad
Candidate Answer: Mathura

Rl
QID : 298 - Who wrote the book "War and Peace"?

"aR YUs H" AW GRS e forgit?
Options:

1) Leo Tolstoy

feray <Terera

2) Mahtma Gandhi

TR e
3) Charles Dickens

4) Rudygard Kipling

TSTTS fhf@m

Correct Answer: Leo Tolstoy
fora <

Candidate Answer: Leo Tolstoy
ferat <feeta

QID : 299 - Mahabaleshwar Sail won Saraswati Samman for work in which language?

TREIAR Ad B! g Ui & & o $ RiY TRad! g forer
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Options:
1) English
S

2) Hindi
3) Konkani

4) Malayalam
i

Correct Answer: Konkani

Candidate Answer: Malayalam
HATTH

QID : 300 - Which of the following places of Sikh religion heritage is NOT in India?

Frafaf@a & I fyeel &1 95 = a1 uiftfe —a & o yRa T T8 22
Options:
1) Nanded

2) Keshgarh Sahib
FITG IR

3) Ponta Sahib

Urer wifew

4) Nankana Sahib

THHT AIfee

Correct Answer: Nankana Sahib
TS RS

Candidate Answer: [ NOT ANSWERED ]




